

EL QUINZET

MÉTODO DE RAPIDEZ DE CÁLCULO



Sumas

$1 + 3 =$

$1 + 2 =$

$1 + 0 =$

$1 + 1 =$

$1 + 4 =$

$1 + 3 =$

$1 + 1 =$

$1 + 2 =$

$1 + 3 =$

$1 + 4 =$

$1 + 3 =$

$1 + 0 =$

$1 + 4 =$

$1 + 2 =$

$1 + 1 =$

$2 + 1 =$

$2 + 2 =$

$2 + 0 =$

$2 + 2 =$

$2 + 1 =$

$2 + 3 =$

$2 + 1 =$

$2 + 4 =$

$2 + 2 =$

$2 + 0 =$

$2 + 2 =$

$2 + 3 =$

$2 + 2 =$

$2 + 1 =$

$2 + 3 =$

$1 + 3 =$

$2 + 2 =$

$2 + 1 =$

$3 + 0 =$

$2 + 3 =$

$3 + 0 =$

$1 + 3 =$

$1 + 2 =$

$0 + 3 =$

$3 + 0 =$

$2 + 1 =$

$3 + 1 =$

$1 + 1 =$

$1 + 2 =$

$1 + 3 =$

$2 + 1 =$

$0 + 1 =$

$2 + 1 =$

$1 + 3 =$

$0 + 4 =$

$2 + 1 =$

$1 + 3 =$

$3 + 1 =$

$4 + 1 =$

$2 + 3 =$

$1 + 2 =$

$3 + 1 =$

$3 + 2 =$

$4 + 1 =$

$2 + 3 =$